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cb 4500 gain vs za and fit Jan18—Apri19
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_____Poll. gain(az,za) 4500.0 Mhz Sigma(y-yfit): 0.4218 ﬁ%ﬁ
f(za): 4.32428 +(-0.06131)*(za-10)+(-0.00711)*(za-10) ~ 2 +( 0.00010)(za-10) ~ 3

f(1az): 0.4782*cos(1az) + (-0.7648)*sin(1az)

f(2az): -0.1559*cos(2az) + ( 0.1336)*sin(2az)

N HHH\H‘H\HHH‘HHHH\‘\\HHH\‘\HHHH‘HHHH\

f(3az): o.u‘usd*c‘os(séz) F (-0.3270)*sin(3az)
SigCof: za 0.0762 0.0237 0.0025 0.0005 .
SigCof: az 0.0702 0.0731 0.0711 0.0712 0.0755 0.0662

cb 4860 gain vs za and fit Jan18—Apri19

_____Poll. gain(az,za) 4860.0 Mhz Sigma(y-yfit): 0.4128 ﬁg%ég
f(za): 4.03822 +(-0.07156)*(za-10)+(-0.00703)*(za-10) ™~ 2 +( 0.00031)(za-10) ~ 3 x
f(1az): 0.5023*cos(1az) + (-0.7745)*sin(1az)

f(2az): -0.1601*cos(2az) + ( 0.1279)*sin(2az)

N HHH\H‘H\HHH‘HHHH\‘\\HHH\‘\HHHH‘HHHH\

{CEVAR -0.0‘204*603(3%2) F (-0.3242)*sin(3az) w‘o ‘ ‘ ‘ .
SigCof: za 0.0762 0.0237 0.0025 0.0005 .
SigCof: az 0.0703 0.0731 0.0711 0.0713 0.0755 0.0663

cb 5000 gain vs za and fit Jan18—Apri19

____Poll. gain(az,za) 5000.0 Mhz Sigma(y-yfit): 0.4245 7 % gﬁéﬁ -
f(za): 4.03782 +(-0.07543)*(za-10)+(-0.00735)*(za-10) ~ 2 +( 0.00039)(za-10) ~ 3

f(laz): 0.5368*cos(1az) + (-0.8013)*sin(1az)

f(2az): -0.1529*cos(2az) + ( 0.1194)*sin(2az)

N HHH\H‘H\HHH‘HHHH\‘\\HHH\‘\HHHH‘HHHH\

f(3az)" -0.0‘367*c‘os(3§‘>z) + (-0.3390)*sin(3az) W‘O ‘ ‘ ‘ ‘ 5
SigCof: za 0.0762 0.0237 0.0025 0.0005 .
SigCof: az 0.0702 0.0731 0.0711 0.0712 0.0755 0.0662

cb 5385 gain vs za and fit Jan18—Apri19

____Poll. gain(az,za) 5385.0 Mhz Sigma(;tyfit): 0.4211 <
f(za): 3.61649 +(-0.06078)*(za-10)+(-0.00692)*(za-10) ~ 2 +( 0.00036)(z

f(1az): 0.5262*cos(1az) + (-0.7602)*sin(1az)
f(2az): -0.1227*cos(2az) + ( 0.0888)*sin(2az)

N HHH\H‘H\HHH‘HHHH\‘\\HHH\‘\HHHH‘HHHH\

{CEAR -0.0‘750*603(3%2) F (-0.33T7)*sin(3az) w‘o ‘ ‘ ‘ .
SigCof: za 0.0780 0.0245 0.0027 0.0005 .
SigCof: az 0.0738 0.0765 0.0734 0.0757 0.0783 0.0699
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cb 4500 Mhz gain fit residuals
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cb 4500 Mhz gain fit residuals
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4500 gain (Jan18—Apr19) vs az,za
1 div= 2.00K/Jy

arrow length proportional to gain
rotation angle proportional to gain
0 Deg: 6.0K/Jy

90 Deg: 3.5K/y

180 Deg: <= 1.0K/Jy
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4500 gain fit residuals (Jan18—Apr19) vs az,za

rotation angle proportional to gain fit residual

0 Deg: 0.0KMy
90 Deg: 0.8K/y
180 Deg::= 1.5K/Jy
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